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1. OMUC HABYAJIbHOI TUCHUTIITHA

Mera MeTta BHMBYEHHS aHIJIINACHKOI MOBH Y HEMOBHOMY BY31 —
MIATOTYBaTH CTYACHTA JI0 YMTAHHS aHTJIOMOBHOI JIiTepaTypH 3a
¢daxoM, CHITKyBaHHS aHTJIIMCHKOIO MOBOIO B PI3HHUX BHAAX
MOBHO{ JiSZTBHOCTI, MOXJIMBOCTI BUKOPHUCTaHHS aHTJIHCHKOT
MOBH y PAKTUYHHX ITIJISIX.

KommnerentHicts | K 04 31aTHICTH NpalfoBaT B MDKHAPOIHOMY KOHTEKCTI.

PesynbTar IIP 03 Bwmitu chnuikyBatucs 3 (axiBUSIMH Ta eKCIIepTaMu

HaBYaHHS pI3HOTO PpIBHS 1HIIUX Tally3edl 3HaHb, y TOMY 4YHCJIl B
MDKHApPOJTHOMY KOHTEKCTi, B TJIOOQJIbHOMY iH(OpMaIiiiHOMY
CEPESIOBHIII.

ba3oBi 3HanHs | 3HATH!

1. I'pamatuyHi paBuiIa, rpaMaTUYHI KOHCTPYKIIIT 115
YCHOTO Ta MUChbMOBOTO MEPEKIIay aHTJIOMOBHHUX TEKCTIB
Ta BUKJIAy 1HGOpMAaIlii;

2. JlexkcwmuHWN MiHIMYM OJMHHITH 3 TPOTPAMHHUX TEM KYpCYy.

ba3oBi BMiHHA

Bwmitu:

1. MOSICHIOBaTH IpaMaTU4HI MPaBUIIA;

2. BIII3HABATH, PO3PI3HATU Ta IMEPEKJIaJaTH pPi3HOMAHITHI
rpaMaTH4Hl KOHCTPYKIIIi;

3. PO3YyMITH MOHOJIOTIYHI TIOBIOMJIEHHS 3 3aCTOCYBaHHSIM
NEBHUX IPAMaTUYHUX KOHCTPYKIIIH;

4. 3aCTOCOBYBATH I'paMaTHuHI [IpaBHUJia Ta KOHCTPYKIIIT B

nepeKsIail TEKCTIB, J1aJIOTIYHOMY MOBJICHHI Ta Ha MUCHMI.

ba3oBi HaBUYKH

1. BukopucTOBYBaTM TrpaMaTW4yHI MpaBuia [Uisl TepeKiamy
TEKCTIB 3 aHIIIIChKOTI MOBHU Y MPAKTHUYHUX IUISIX.

2. BxwuBatu rpaMaTHyHl KOHCTPYKLIi B YCHOMY MOBJIEHHI Ta
nepeKasi TeKCTIB 3 MPOrPaMHUX TEM KYpCY.

[ToB’s13ani
cuiiadycu

[Tonepenus
IUCLHUILIIHA

Hacrtynna
IUCLHUILIIHA

KinpkicThs rogun

JIEKITIi:

npaktuuHi 3aHaTTs: 60 y Il cemectpi;
71a00paTOPHI 3aHATTS:

CEeMIHApChK1 3aHSTT:

camocTiiiHa po6ota cryaenTis: 60 y |l cemecTpi




Il cemecTp

2. MIPOTPAMA HABYAJIbHOI JUCIUILJITHA

2.2. llpaktuuni moaymi |l cemectpy

Kon

Ha3zBa Mmoyns ta tem

KinpkicTs roguu

aynutopsi | CPC
3M- 15 10
m1 | 1. a) The Ecosystem. Famine and Flood. 3 2
b) Ilepeknan Tekcry 3a daxom (8000 mp. 3HAKIB) 3 2
¢) INepexnaz cycCHibHO-TIOJITHYHOTO TEKCTY 3 2
(2500 mp. 3HAKIB)
d) Grammar: The Infinitive 4 2
2. MonynbHa KOHTpOJbHA poboTa Ne 1 2 2
3M- 15 10
I12 | 1. a) Global Warming. Kyoto Revisited. 3 2
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB) 3 2
c) Ilepekinan cycniabHO-TIOTITUYHOTO TEKCTY 3 2
(2500 nmp. 3HAKIB)
d) Grammar: The Gerund 4 2
2. MopaynbpHa KOHTpoJibHA poOoTa No 2 2 2
3M- 15 10
I13 | 1. a) Natural Wonders of the World. 3 2
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3nakiB) |3 2
¢) Ilepexnan cycniibHO-MIOITHYHOTO TEKCTY 3 2
(2500 mp. 3HAKIB)
d) Grammar: The Participle 2 1
e) Grammar: Indirect speech 2 1
2. MoaynpHa KOHTpoJbHA poboTa Ne 3 2 2
3M- 15 10
[14 | 1. a) Decision-making on the Solution of Ecological |3 2
Problems.
b) Ilepexmnan Tekcty 3a paxom (8000 ap. 3HAKIB) 3 2
c¢) [lepeknan cycniibHO-MOMITUYHOTO TEKCTY 3 2
(2500 mp. 3HaKIB)
d) Grammar: The Conditional Sentences 2 1
e) Grammar: Subjunctive mood. 2 1
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2. MonynpHa KOHTpoJIbHA pobdoTa Ne 4 2 2
Icriut 20
60 60
Pazom:
Koncynpramii:
1. IotoBa-Hikonenko I".B., nomenr, k. ¢inon. Hayk, qomeHT, BiBTOpok 9.00 —
13.00, ayauropist 607.
2.3. CamocrTiiiHa poboTa cTyJieHTa Ta KOHTpOoJbHI 3axoau y |l cemecTpi
Koxn 3aBnanns Ha CPC Ta KOHTPOJIBHI 3aX0I1 KimbkicTs Crpo
MOYJIsS TOJIMH | POBEJCHHS
3M-I11 10 1-4
THXICHD
e [linroTOBKA 10 YCHOTO ONMUTYBAHHS, 2 1 Twxneun
MIArOTOBKA rPaMaTUYHOI TEMHU Ta M1ArOTOBKA
JIOMAIITHHOTO YUTAHHS
e [linroTOBKA 10 BUKOHAHHS MOAYJIBHOI 2 2 THXIEHD
KOHTPOJBHOT poboTu Ne 1 (060B’a3K0BE)
Konmponwhi 3axoou:
e YCHE ONUTYBaHHS 2 2 THKJIEHD
o [lepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB 2 3 TWXKIEHb
HE3HAMOMHUX CJIIB Ta iX MepeKa JIJIsl yCHOTO
nepeKIaay TEKCTIB
o [lepeBipka MUCbMOBO BUKOHAHHUX 2 3 TUXKICHD
rpaMaTHYHUX BIIPaB
e MonaynbHa KOHTpOJibHA poboTa Ne 1 4 THKIEHD
3M-I12 10 4-8
TUXKICHBb
o [linroToBKa /10 YCHOTO OMUTYBaHHS, 2 4 THKIEHb
IIJITOTOBKA IpaMaTUYHO1 TEMHU Ta IMArOTOBKA
JIOMAIIHBOTO YUTAHHS
e [lixroToBKa 10 BUKOHAHHS MOJYJIbHOT 2 S THKICHb
KOHTPOJIbHOT po6oTH Ne 2 (000B’SI3KOBE)
Komnmponwni 3axoou:
e YCHE OIIUTYBaHHS 2 S THK/ICHD
o [lepeBipka MMCbMOBO BUKOHAHUX CIHUCKIB 2 6 TrKIEHD

HE3HAHOMUX CIIIB Ta iX MepeKsIa Ajisl YCHOTO
nepeKsIaay TeKCTIB




o [lepeBipka MMCbMOBO BUKOHAHUX 2 [ TUXKIEHb
rpaMaTHYHUX BIIPaB
e MoaynpHa KOHTpOJIBHA poboTa Ne 2 8 TIKIeHb
3M-I13 10 8-12
TIKJICHD
e [linroTOBKA 10 YCHOTO ONMUTYBAHHS, 2 8 TxIeHb
M1JrOTOBKA paMaTUYHO1 TEMHU Ta IMiATOTOBKA
JTOMAIIIHLOTO YNTAHHS
* [IigroToBKa 10 BUKOHAHHS MOYJIBHOL 2 9 THXKIIEHD
KOHTpPOJIbHOT poO6oTH Ne 3 (000B’SI3K0BE)
Konmponwni 3axoou:
e YCHe onuTyBaHHS 2 9 THXIEHD
« [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 2 10 Tk nens
HE3HAMOMHMX CJIIB Ta IX MEepPeKIIa I yCHOTO
NepeKIaay TEKCTIB
o [lepeBipka MMCbMOBO BUKOHAHHUX 2 11 TwxaeHb
rpaMaTUYHUX BIIPaB
o MonynpHa KOHTpOJbHA poboTa Ne 3 12 TwxaeHb
3M-I114 10 12-15
THOKJICHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 2 12 TYKIEHD
M1JTOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JIOMAIIIHBLOTO YHTAHHS
* [linroTOBKA O BUKOHAHHS MOIYIHHOT 2 13 THKIEHD
KOHTpPOJIbHOT po0oTH Ne 4 (000B’SI13K0BE)
Konmponwhi 3axoou:
e YCHE onuTyBaHHs 2 13 TUKIEHD
« [lepeBipka NMMCHbMOBO BUKOHAHUX CITUCKIB 2 14 THXICHD
HE3HAHOMUX CIIIB Ta iX IepeKIIaj IJIsl YCHOTO
nepeKIaay TEKCTIB
o [IepeBipka MMCHbMOBO BUKOHAHUX 2 14 TvKIEHD
rpaMaTHYHUX BIIPaB
e MonaynbpHa KOHTpOJIbHA poOoTa Ne 4 15 THXKICHD
[linroToBKa 210 ICIIUTY 20 Cecia
Konmponwhi 3axoou:
o [CcrIMT
Pazowm: 60




1. MeTtoarka MPOBEJICHHS Ta OHiHI-OBaHH}I KOHTPOJIBHOI'O 3aX04y JJIA 3M-II1.

MiHiMaabHUH 00csAT 0a30BUX 3HAHb, 110 HEOOX1AHMH 1 3acBoeHHs 3M — I11:

— YHTaTH, MEePEeKIaaTh Ta nepekasyBatu Tekctu “The Ecosystem”, “Famine
and Flood”;

— BU3HAYHUTHU XapaKTEPUCTUKHU BXXMBAHHSA Ta MEPEKIaTy TpaMaTUYHUX SIBHIL]
3a Temoro «Iudinitusy» (The Infinitive);

— HABYUTHCS YTBOPIOBATH Ta BXKUBATH Pi3HI rpaMaTuyHi GopMu 1HQIHITUBA;

— YHUTaTH, NIEPEeKIaJaTH Ta aHOTOBAHO MEepeKa3yBaTH TEKCTH 3a (PaxoBoOIO
TEMaTHKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’SI3K0Bi 3ax0au KOHTpoJ0 3 3M-II1 — 25
OauiB:

1 3aBnaunasg — 19 Oamis:

JuB. Tabm1. 2.2

a5(01+1+1+2)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta IX MepeKiIaa
1 — ycHull nepekaa TEKCTy
2 — mepeKas TeKCTy

b) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHUX CJIiB Ta X MepeKian
2 — MMCLMOBE BUKOHAaHE Summary
1 — ycue Summary

c) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
2 — IMChbMOBE BHKOHaHE Summary
1 — ycue Summary

d) 4(2+2)
2 — MMCHbMOBHI KOHCIIEKT mpaBuit 3a Temoro The Infinitive
2 — MMCHbMOBO BUKOHAHHI rpaMaTHYHI BIipaBu 3a Temoro The Infinitive

1 3apmanHs (19 0aniB) He € 000B’ I3KOBUM.
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2 3aBaaHHs — 25 OaiB:

Buxonannug MKP Ne 1

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KokHe 3aBmaHHs
0,83 Oamu. MoaynpHa KOHTpOJIbHA pO0OOTa BBAXKAETHCS 3apaxOBaHOIO, SKIIO
HaJlaHO MiHIMYM 18 npaBuiIbHUX BIAIOBIICH.

Axmo 3axoau 000B’A3KOBUX (POPM KOHTPOJIO BUKOHYIOTHCS CTYJEHTOM
MICJIA CTPOKIB, BU3HAUYCHHUX y MPOTpaMi HaBYAIbHOI JTUCIMIUTIHY, KIJIBKICTh OaliB,
0 MOXK€ OTpUMAaTH CTYACHT, HE MoOxke mepeBuiryBatu 60% Big MaKCUMalIbHO
MO>KJIMBOI JUTSI i€l pOpMU KOHTPOJTIO.

Ouinka 3a okpemi (200 yci) MOAYJl 3HMXKYEThCA Y pa3l MPOMYCKIB 3aHATh
CTYJCHTOM. 3a KOKHE MPONYIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanu, aje MiHIMaibHa
OIliHKA MICJISl 3HXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYKJTUBOI.

MaxkcumaibHa cyma 000B’ss3k0Bux O6amis 3 3M-I11 — 25 Gamis.

2 3aBniaHHA (25 6aniB) € 000B’I3KOBUM.

2. MeToauKa MPOBEJICHHS Ta OHiHI-OBaHHH KOHTPOJIBHOI'O 3aX04y JJIA 3M-I12.

MiHiMaabHUH 00cAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBocHHS 3M — [12:
— 4YHTaTH, Nepekiiaaaty Ta nepekaszyBaru tekctu “Global Warming”, “Kyoto
Revisited”;
— BH3HAYATH XapaKTEPUCTUKH BXKMBAHHS Ta MEPEKIIaay TpaMaTHIHUX SIBUII] 32
temoro «I"epynuii» (The Gerund);
— HaBYMTHCS YTBOPIOBATH Ta BXKMBATH PI3HI rpaMaTU4Hi (OpMU TEPYHIIS;

— YHUTaTH, NEPEeKIIaJaTh Ta AaHOTOBAHO MEepeKa3yBaTH TEKCTHU 3a (haxoBOIO
TEMaTHKOIO.

MakcumaibHa cyma 6aJjiiB 3a 000B’s13k0Bi 3ax0au KoHTpoaw 3 3M-I12 — 25
0aJiB:

1 3aBganHasa — 19 Gaunis:

JluB. Tabm. 2.2

aA)5(1+1+1+2)

1 — ynuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
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1 — cnucok He3HAOMUX CJIIB Ta IX MEpeKIaj
1 — ycHuli nepekiaaa TEKCTy
2 — repeKas TeKCTy

b) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTIIIHCHKOIO MOBOTO
1 — criucok He3HAMOMUX CIIiB Ta 1X MEPeKIIay
2 — IMChMOBE BUKOHaHE Summary
1 — ycae Summary

c) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX TIepeKIIa
2 — IIChMOBE BHKOHAHE Summary
1 — ycae Summary

d) 4(2+2)
2 — MICHMOBHUH KOHCIIEKT TpaBwmiI 3a Temoro The Gerund
2 — MICHhMOBO BHKOHAHHI rpaMaTH4Hi BIpaBu 3a Temoro The Gerund

1 3aBnanus (19 6ainiB) He € 000B’I3KOBUM.

2 3aBaHHg — 25 GaiB:

Buxkonanug MKP Ne 2

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHS
0,83 OGammu. MoaynbHa KOHTPOJIbHA pPOOOTAa BBAXKAETHCS 3apaxOBAHOIO, SKIIO

HaJaHO MiHIMYM 18 npaBUIBHUX BiAIOBIICH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCHsl CTPOKIB, BU3HAYEHUX Y IPOrpaMi HaBUYAIbHOI IUCLUUIUTIHHU, KIJTBKICTh OaiB,
0 MOKE€ OTPUMATH CTYIEHT, HE MOXxe mnepeBuiryBatu 60% Big MaKCUMalIbHO

MO>KJIMBOI JUTsI 1i€1 POPMU KOHTPOJTIO.

Orminka 3a okpemi (200 yci) MOAYJl 3HIKYETHCA Y pa3i MPOMYCKIB 3aHATH
CTYJIGHTOM. 3a KOXKHE MPOMYIIEeHEe 3aHATTA 3HIKYeThCs 0,5 Oanu, ane MiHIMaabHa
OLIIHKA MiCIIsl 3HWKEHHS He MOoXke OyTH Huk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MakcumanbHa cyma 000B’s13k0BuX 0aniB 3 3M-I12 — 25 Ganis.

2 3apiaHHs (25 6aniB) € 000B’ I3KOBUM.



3. MeToarKka MPOBEICHHS Ta OHiHI-OBaHH}I KOHTPOJIBHOI'O 3aX04y JJIA 3M-II3.

MiniMansHuM 00ciT 0a30BUX 3HAHB, III0 HEOOXiqHMH M1 3acBoeHHs 3M — I13:

— 4HTaTH, TepekianaTi Ta nepekasyBatu Texctu “Natural Wonders of the
World”;

— BH3HAYATH XapaKTEPUCTUKH BXKUBAHHS Ta TIEPEKIIay TpaMaTUIHUX SBUIII 32
temoro Participle | ta Participle Il;

— HaABYMTHUCS YTBOPIOBATH Ta BXXHBATH pi3HI hopmu Participle I ta II;

— BU3HAYATH XapaKTCPUCTUKH BXKMBAHHS Ta MEPEKIIAAy TPAMATUYHUX SBHII]
3a Temoro Indirect Speech;

— HaBYUTHCS yTBOproBaTH Ta BxkuBatu Indirect Speech;

— YWTaTH, IEPEKIAaTH Ta AaHOTOBAHO TIEPEKA3yBAaTH TEKCTH 3a (HaxOBOIO
TEMaTHUKOIO.

MakcumanbHa cyma 6aJjiiB 3a 000B’s13Kk0Bi 3ax0au KoHTpoJ0 3 3M-II3 — 25
OaJiB:

1 3aBnandsa — 20 Oais:

JuB. Tabm. 2.2

a4(1l+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnircok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t mepekiaa TeKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOK MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMHUX CJIiB Ta 1X MepeKiIan
1 — nmucpbMOBE BUKOHAHE SUMMary
1 — ycae Summary

d) 4(2+2)

2 — MICHbMOBHUH KOHCIIEKT MpaBwmiI 3a Temoto T he Participle
2 — MMCHhMOBO BUKOHAHHI rpaMaTH4HI BITpaBH 3a TeMoto The Participle
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e) 4(2+2)
2 — MICHMOBHI KOHCIIEKT mpaBwi 3a Temoto Indirect Speech
2 — MMCHMOBO BHKOHAHHI rpaMaTH4Hi BripaBu 3a Temoto Indirect Speech

1 3aBmanHs (20 6aniB) He € 000B’I3KOBUM.

2 3aBaaHHs — 25 OaiB:

Buxonanug MKP Ne 3

MoynbHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBnanb. KoxkHe 3aB1aHHA
0,83 Oamu. MoaynpHa KOHTpOJIbHA PpOOOTa BBAXKAETHCS 3apaxOBaHOO, SKIIO
HaJlaHO MiHIMYM 18 npaBuiIbHUX BIAIOBIICH.

Axmo 3axoau 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCIsl CTPOKIB, BU3HAYEHUX Y NPOrpaMi HaBYAJIBbHOI IUCHMIUIIHU, KIJIBKICTh OaiiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOke nepeBuuryBatd 60% BiJl MaKCHMAaJIbHO
MOXJIMBOI JUIs 111€T (POPMU KOHTPOJTIO.

Ouinka 3a okpemi (200 yci) MOAyJl 3HMXKYEThCA Y pa3l MPOMYCKIB 3aHITh
CTYIACHTOM. 3a KOXKHE IMPOMYIIEHE 3aHATTS 3HMXKYeThes 0,5 Oanu, ajne MiHIMalbHA
OLIIHKA MICIIsl 3HWKEHHS He MOXke OyTu Huk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MakcumanbHa cyma 000B’s13k0BUX 0aniB 3 3M-I13 — 25 Gais.

2 3aBnanHs (25 6aiiB) € 000B’I3KOBUM.

4. Metoanka IpoBEIEHHS Ta OLIHIOBAHHSA KOHTPOJbHOT0 3ax0ay st 3M-T14.

MiHIMaIbHUH 00CAT 0a30BUX 3HAHB, IO HEOOX1AHMH /U1 3acBocHHS 3M — [14:
— YWTaTH, TepeKanaTH Ta nepekasyBatu Tekctu “Decision-making on the
Solution of Ecological Problems”;
— BU3HAYaTH XapaKTEPUCTUKHU BKUBAHHA Ta MEPEKIAAy TPaMATUYHUX SIBUII]

3a Temoro Conditional Sentences (Type O, I, II, I11);
— HaBuuTHCS yTBOoproBath Ta BxuBaTh Conditional Sentences (Type O, I, 11,
1n;

— BH3HAYaTH XapaKTEPUCTUKHU BXXKMBAHHS Ta MEPEKIaay rpaMaTHUHUX SBHUIIL
3a Temoro Subjunctive Mood. Revision;

— HABYMTHUCS YTBOPIOBATH Ta BxkuBaTu Subjunctive Mood. Revision;

— YHTaTH, IEPEKIAJaTH Ta aHOTOBAHO MEPEeKa3yBaTh TEKCTHU 3a (haxOBOIO
TEMATHKOIO.
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MakcumanbHa cyma 0ajiB 3a 000B’I3K0Bi 3ax0u KOHTpoJI0 3 3M-II4 — 25
0aJiB:

1 3aBnannsg — 20 Oais:

JluB. Tabm. 2.2

a4(1l+1+1+1)
1 — ynTanus TCKCTY AHIJIIMCHKOK MOBOIO
1 — cricoK He3HAaOMHX CJIIB Ta iX nepeKiag
1 — ycHMIT mepekiia TEKCTY
1 — nepekas TeKcTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnircok He3HAHOMUX CIIIB Ta iX MepeKia
1 — nucpbMOBE BUKOHAHE SUMMmary
1 — ycue Summary

d 4(2+2)
2 — MMCbMOBHI KOHCIIEKT TpaBwi1 3a Temoro Conditional Sentences (Type O, I, 11,

1)

2 — MACHMOBO BUKOHAHHI TpamMaTW4Hi BrpaBu 3a Temoro Conditional Sentences
(Type O, I, 11, 111)

e) 4(2+2)
2 — MICHMOBHUH KOHCIIEKT TpaBmiI 3a Temoro Subjunctive Mood

2 — MMChbMOBO BHKOHAHHI rpaMaTHYHI BIpaBu 3a Temoro Subjunctive Mood

1 3aBmanus (20 OamiB) He € 000B’I3KOBHM.
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2 3aBaaHHg — 25 OaniB:

Buxonanng MKP Ne 4

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHs
0,83 OGaym. MopaynbHa KOHTPOJBHA POOOTAa BBAXKAETHCSA 3apPaxOBaHOIO, SKIIO
HaJaHO MiHIMYM 18 mpaBUIbHUX BiAMOBIIEH.

Sxmo 3axoaw 0OOB’SI3KOBUX (HOPM KOHTPOJIO BUKOHYIOTHCS CTYICHTOM
MICJIA CTPOKIB, BU3HAUYCHHUX y MPOTpaMi HaBYAIbHOI JTUCIMIUTIHY, KIJIBKICTh OaliB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOke mnepeBuuryBaTd 60% BiJl MaKCHMAaJbHO
MOXJIMBOI JUIS 1T1€T (POPMU KOHTPOJIIO.

Ominka 3a okpemi (a0o yci) MOyl 3HIXKYETHCS y pa3i MPOMYCKIB 3aHSThH
CTYJCHTOM. 3a KOXKHE MPONYIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanu, aje MiHIMaibHa
OIliHKA MICJISl 3HIXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYJIUBOI.

MaxkcumanbHa cyma 000B’s3k0BuX OamiB 3 3M-114 — 25 Ganis.

2 3apmaHHs (25 6aniB) € 000B’ I3KOBUM.

4. MeToIHKA NPOBEJEHHS Ta OLIHIOBAHHSI CEMeCTPOBOr0 KOHTPOJIbHOI'0
3aX0/1Y.

KoHTposib MOTOYHNX 3HAHb BUKOHYETHCSI HA 0a31 HAKOMUYYBaJIbHOI CUCTEMU
opraHizailii HaB4aHHS.

@dakTthyHa cyma OaiiB, SKy OTPUMY€ CTYIEHT 3a IEBHHM 3MICTOBHUMI
MOJAYJb, MAa€ CKJIAIaTUCA 13 pe3yJbTaTiB BHUKOHAHHS 3aXOJIB 3 KOHTPOJIIO, IO
3aIJIaHOBaHl 3a UMM 3MICTOBHUM MOJYyJIEM, Ta YPaxOBYBAaTH CBO€YACHICTh
(HampuKIaa: CTYIOEHT, SIKMM NPONYCTUB KOHTPOJbHUM 3axiJg 0e3 MOBaXHUX
OpUYUH a00 OTPMMAaB HE3a0BUIbHY OLIHKY, Ma€ MpaBO y THUXKHEBHU TEpMIiH
BUKOHATH 3aBJaHHS LIbOTO 3aX0/y 3 MAaKCUMaJIbHOIO CYMOIO 0ajiiB, €KBIBAJIEHTHOIO
OIIHIII HE OUIBINN HDK «3aJ0BUIBHO»)  BUKOHAHHS CTYACHTOM Tpadiky
HABYaJIbHOT'O IPOLECY.

Cymu OaniB, sIKi OTpUMaB CTYJEHT 3a BCIMa 3MICTOBHUMH MOJYJISIMH HaB-
YaJIbHOI JUCIUIUIIHN, (OPMYIOTh KUIBKICHY OIHKY (0anm ycmimHOoCTi) 3a
HiCYMKaMH TOTOYHUX KOHTPOJIOIOYMX 3aXOAIB CTyJEHTa 3 HaBYaJIbHOI
JUCHMIUTIHU. Pe3yiabTaT MOTOYHOTO KOHTPOJIIO 3aHOCATHCA IO 1HTErpajbHOI
BiJlIoMOCTi. PimieHHs Tpo MOOMyCK CTyJAEHTa JI0 TMiJCYyMKOBOTO CEMECTPOBOIO
KOHTPOJII0 3 KOHKPETHOI HaBYaJIbHOI JUCIUIUIIH periiaMeHTyeThest [lonoxeHHs M
PO MPOBEACHHS M1JICYMKOBOTO KOHTPOJIIO 3HaHb CTYCHTIB.

CTyaeHT BBaXKae€TbCsd JOMYIIEHMM JO MIJICYMKOBOIO CEMECTPOBOIO
KOHTpPOJItO (ICTIMTY), SIKIIO BIH BHUKOHAB BC1 BUAM pOOIT, mependadeHi poOouoro
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HABYAJIBHOIO MPOTrPaMOI0 TUCIMILIIHK 1 HAOpaB 3a MOIYJBHOIO CHCTEMOIO CyMy
6ainiB He mente 50 (50%) Bix MakcuManbHO MOKIMBOI (000B’s13k0Ba yactrHa 100
0aniB) 3a MPaKTUYHY YaCTHHY.

[1inCyMKOBHM KOHTPOJIEM 3HAHb CTY/CHTIB € iCIMT.

Ex3amenaniiina pobota ckiagaetbes 3 4 3aBAaHb. | 3aBHaHHS OLIHIOETHCA B 50
OaimiB, 2 3aBgaHHg B 20 OaxniB, 3 3aBmanHsa B 10 GamiB 1 4 3aBmannsa B 20 Oadis.

Ex3amenarriiina po6oTa BBaKAa€ThCS 3apax0BaHOI0, SKIIO CTYJEHT HaOpaB MIHIMYM
50 6ais.

OJECHKUI JEPKABHUIN EKOJOTTYHUN YHIBEPCUTET

(HOBHC HaﬁMeHyBaHHﬂ BHIIOI'O HABYAJIBHOT'O SaKHaHy)

PiBens BuIOi OCcBiTH: Marictp
CrenianpHicts: 103 «Hayku npo 3emmio»,  Cemectp 11
HaBuanssa gucuuiuniga: AHDIIMcbKa MOBA 3a IpodECIiHUM CIIPSIMYBaHHIM

EK3AMEHAIIMHUM BIJIET Ne 1

1. Grammar Test 50 6.

2. Translate the text and put 5 questiontoit. ... 20 6.

3. a)Translate the text and entitleit ... 10 6.
b) Give a brief summary of the text (not more than 3 sentences)

4. Write about “My scientific interests” .. 20 ©.

3arBep/uKeHO Ha 3acinanHi kapeapu CI'H

[Iporokon Ne  Big“__ 20 poky
3aBinyBau kadeapu, ro;ioBa HMKJI0BOI KOMIcCii IloroBa-Hikoaenko I'. B.
(mmimmic) (TIpi3BuIIe Ta iHiMiaIM)
Ex3amenarop

(i rmvc) (pi3BHIIe Ta iHimiamM)

Jlo icnuTy NOMyCKalOThCS CTYIEHTH, YV SIKUX (paKTUYHA CyMa HAKOIMYEHUX 3a
cemecTp OaliB 3a MPaKTUYHY 4YacTUHY ckiazae He meHuie 50% (50 6auais). B
IHIIIOMY BHUMAJKy CTYJECHT BBAKA€ThCSA TAKUM, 110 HE BUKOHAB HABYAJIHHOTO TUIAHY
JTUCIUTUTIHY, 1 HE IOMYCKAEThCS 70 ICTIUTY.

O1uiHKa 3a AUCIUILIIHY PO3PaX0OBYETHCS 3a (HOPMYIIOHO:
10 = 0,5 (OM + OIIK)
ne OM — kinbKicHa omiHKa (y BiJICOTKAaxX BiJi MaKCUMaJbHO MOXJIMBOI) 3aXO/IiB

koHTpoJito CPC y MixkceciiHu TIepio;
OIIK — oriHKa MmiICyMKOBOTO KOHTPOJItO (1CIIUT).
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[To aucummini, SiKa 3aBEPIIYETHCS ICIUTOM, CTYACHT CKJIaJa€ MUChMOBHIA
ICIINT, SKUWA OIIHIOETHCS 3rigHO ,,1a0muIl JJIs BU3HAYEHHS KUIBKICHUX
MOKA3HUKIB YCIIIIHOCTI 3a MIJCYMKaMHU 1CIIHUTY

Kinbkictsb 3a cuctemMoro Buznauenns :
i ) 3a HaIlOHAIBHOIO
OamniB YHIBEPCUTETY
. ! CHCTEMOIO
3a ICTIUT (Y BiicoTKax)
1 2 3 4
BIJIMIHHE BHWKOHAHHS JHUIIEC 3
90-100 90-100 HE3HAYHOIO KUTBKICTIO 5 (BiAMIHHO)
MTOMMJIOK
BUIIIE CEPEIHBOTO PIBHI 3
82 — 89 82 — 89 MIHIC — ceped p 4 (106pe)
KUThKOMA MMOMIJIKAMH
B 3araJlkHOMYy  TIpaBHWJIbHA
74 -81 7481 poboTa 3 TIEBHOK KUIBKICTIO 4 (mobpe)
rpyOuX MOMMJIOK
HEMoraHo, ajge 31 3HA4YHOIo :
64 — 73 64 —73 . 3 (3a10BUIBHO)
KUTBKICTIO IOMUJIOK
BUKOHAHHSI 3aJI0BOJIBHSIE 3 (3a10BITBHO
60— 63 60 63 IKOHAHHA a (321 )
MiHIMaJIbHI KpUTEPIi
35-59 35-59 3 MOYKJIMBICTIO TIEPEKIIACTH 2 (He3aJ0BIJIBHO)
3 00O0B’SI3KOBUM TOBTOPHUM | 2 (HE3a0BIIIBHO
1-34 1-34 P (resan )

KYpCOM HaBYaHHsI

3arajpHa KUIBKICHA

OI[IHKA € VCepPeaHEHOI MK KUJIbKICHOI OI[IHKOIO

MOTOYHUX KOHTPOJIOIOUMX 3ax0AiB (rpada 3 BiAOMOCTI) Ta KUIBKICHOIO OI[IHKOIO
CEMECTPOBOI0 KOHTPOJIOIUYOro 3axony (rpada 4 BiIOMOCTI) 1 BUCTABISETHCS Y
rpadi 5 3aKoBoO-eK3aMeHalliiH1 BIJOMOCTI (3arajibHUi 0ajl yCIIIHOCTI).

SIK1o cTyAeHT 3a MmiJICyMKaMH ICTIUTY OTPUMAaB 3aralibHy KiJIbKICHY OILIHKY
MeHme 50% (Bim MakCHUMaJIbHO MOXJIMBOI Ha €K3aMEHi), TO BHKJIagadyeM
BUCTABJIAEThCS y rpadi S5 3aranbHUil 0an yCHINIHOCTI, KU JOPIBHIOE OaJry

ycnimHocti Ha icnuTi (rpada 4).

IIkana ouinoBanus 3a cucremoro EKTAC Ta cucreMor0 yHiBepcuTeTry

3a HalllOHAIILHOK CUCTEMOIO

3a cucteMor

3a mKasnor .

ECTS . ' YHIBEpCHUTETY
JUIS 1ICIUATY JUIS 3aJ11IKY (B mponeHTax)

A 5 (BiZMiHHO) 3apaxoBaHO 90 - 100

B 4 (mobpe) 3apaxoBaHO 82 -89

C 4 (mobpe) 3apaxoBaHO 74-81

D 3 (3a10B1JIBHO) 3apaxoBaHO 64 —73

E 3 (3a10BLJIBHO) 3apaxoBaHO 60 — 63

FX 2 (He3a10BUIBHO) HE 3apaxOBaHO 35-59

F 2 (He3a10BUILHO) HE 3apaxoBaHO 1-34
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3. PEKOMEHJAIIIL IO CAMOCTIMHOI POBOTH CTYJEHTIB

3.1.  Mooyab 3M-II1 “The Ecosystem”, “Famine and flood ”, The Infinitive;
nepekaa0 mekcmy 3a oaxom ma nepexiad cyCcnilbHO-NONMUYHO20 MEeKCmY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]

3.1.1. [ToBuanus

a) Text A. “The Ecosystem”. “Famine and flood”.

. [IpounTaTu TEKCT aHINMIMCHKOIO MOBOIO.

. Buniucatu 3 TeKCTy HOBI CjioBa Ta 3poOUTH X MEepeKIail.

. YCHO MepeKIacTi TEKCT 3 aHTJIACHhKOI Ha YKPAiHChKY MOBY.
. [lepexa3atu TEKCT.

AW N —

b) Homamne untanss. [lepeknam TekcTy 3a haxom.

. CaMocCTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HaKiB)
. BuniucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH X TIEpEKIal.

. YCHO mepeK1acT TeKCT 3 aHTJIHACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DB W -

c) JlomamrHe ynTaHHs (MIEPEeKIIaj CyCITbHO-TIOTITHYHOTO TEKCTY)

. CamocTiifHO 00paTH TEKCT 3 aHrJIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEpeKIal.

. YCHO nepeKIacTi TEKCT 3 aHTJIACHhKOI Ha YKPaiHCbKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN bW N =

d) Grammar:
The Infinitive

1. 3poOuTH KOHCTIEKT MTPaBUJI BXKUBAHHS 1H(IHITUBY Ta Oro OpM y aKTUBHOMY
Ta TAaCUBHOMY CTaHaXx.
2. BukoHaTu TpeHyBaJlbHI FPaMaTH4YHI BIPABH.
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9.

3.1.2. IlutanHs U1 caMONepeBIpKU

What is an ecosystem?

What are autotrophic beings?

What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material
from inorganic substances?

What is the primary energy source for life on earth?

What is the main means by which autotrophic beings obtain energy?

Which is the autotrophic group responsible for the production of most part of
the molecular oxygen of earth?

In the ecological study of food interactions, what are the autotrophic beings
called?

How are the heterotrophic beings divided in the ecological study of foo
interactions?

10.What are primary consumers?
11.Can a food chain present quaternary consume: without having secondary or

tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?

3.2.  Mooyrv 3M-IT2 “Global Warming”, “Kyoto Revisited ”, The Gerund;
nepexnao mekcmy 3a paxom ma nepexiao CycnilbHO-NOAIMUYHOS0 MEKCM) 3
AH2NIUCHKOT HA YKPAIHCLKY MOBY.

Jlitepatypa: [1, c. 55— 64], [2, c. 47-50], [6, c. 94-100]

B W N —

DWW N =

3.2.1. [loByanHs

a) Text A. “Global Warming”. “Kyoto Revisited”.

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO mepeK1acT TeKCT 3 aHTIIHACHKOI Ha YKPaiHChKY MOBY.
. [lepexazatu TEKCT.

b) [domarne ynranns. Ilepeknan TEKCTY 3a (axoM.

. CaMoCTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. Bunncatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH 1X MTEPEKIIal.

. YCHO mepeKIacTi TEKCT 3 aHTJIHCHKOI Ha YKPAiHCbKY MOBY.

. IlucpmoBe Summary.
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5. Ycae Summary
c) JlomamrHe ynTaHHs (IEPEKIIa]] CyCIUTEHO-TIOTITHYHOTO TEKCTY)

1. CamocTiitHO 00paTh TEKCT 3 aHTIAOMOBHOI razetu (2500 mp.3HaKIB)
2. Bunucatu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X MEpeKIal.

3. YCHO nepeK1acTu TEKCT 3 aHITHChKOI Ha yKPaiHChKY MOBY.

4, TlucemoBe Summary.

5. Ycue Summary

d) Grammar:
The Gerund

1. 3poOuTH KOHCTIEKT MPaBUJI B)KUBAHHA FEPYH/IIO Ta HOTO (JOPM Y aKTUBHOMY Ta
NIACUBHOMY CTaHax.
2. BukoHaTu TpeHyBaJIbHI FPAMaTH4YHI BIPABH.

3.2.2. IlutanHd U1 caMOTepeBIpKU

What is one of the biggest threats facing the planet?

What is the cause of temperature’s rising?

What have the researchers gathered over the past 20 years?

What is the global warming?

Do you know the real size of mankind’s contribution to the warming trend?

How should greenhouse-gas emissions be abated?

What is in a new paper for the Copenhagen Consensus project examined?

Are rising temperatures capable of causing great economic harm-though a lot?

How much would total economic damage fall on farmers?

10 Why could farmers no longer use some lands?

11.What does Mr. Cline investigate?

12.What is the Kyoto treaty?

13.What would a global carbon tax encourage?

14.Why do many rich countries refuse to sign the Kyoto treaty?

15. Does the last policy recognize that predictions of climate change encompass a
wide range of scenarios? Why?

16. What can you say about the possible damage costs?

17.Do you know three possible remedies?

18.Are given figures huge and very speculative?

oCcoNOR~ODE

3.3. Mooyas 3M-I13 “Natural Wonders of the World ”, The Participle, Indirect
speech; nepexnao mexcmy 3a haxom ma nepexnad cyCcniibHO-NOJIMULHOL0
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meKcmy 3 aH2IUCbKOI HA YKPAIHCLKY MOB).

Jlireparypa: [1, €. 65-79, c. 91-101], [2, c. 42-47, c. 61-62], [4, c. 360-383], [6,
c. 84-94]

3.3.1. [loBuanus
a) Text A. “Natural Wonders of the World .

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH X TIEpEKIal.

. YCHO mepeKs1acTi TeKCT 3 aHTJIIAChKOI Ha YKPAiHChKY MOBY.
. [lepexasaTtu TekcCT.

AW —

b) Homamne yntanss. [lepeknam TekcTy 3a haxom.

. CamMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEpEKIal.

. YCHO NepeKIacTi TEKCT 3 aHTJIIACHhKOI Ha YKPAiHCbKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

N W=

c) JlomaiHe ynTaHHs (MIEPEKIIa CyCIIbHO-TOTITHYHOTO TEKCTY)

. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 mp.3HaKiB)
. BuncaTu 3 TekcTy HOBI CclloBa Ta 3p0OUTH X MEPEKIIa/l.

. YCHO MepeKIacTi TEKCT 3 aHTJIIHCHKOI Ha YKPaiHCbKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

DN BN WN -

d) Grammar:
The Participle

1. 3poOuTH KOHCIIEKT MTPaBUJI BXXKUBAHHS JIEMPUKMETHUKA Ta oro Gopm y
AKTUBHOMY Ta MACUBHOMY CTaHaX.
2. BukoHaTtu TpeHyBaJbHI IpaMaTU4HI BIPABH.

e) Grammar:
Indirect speech

1. 3poOUTH KOHCIIEKT MpaBUJI BXKMBAHHSA YMOBHHUX PEUYEHb Ta IX CTPYKTYpHU
MoOYI0BU B PEUCHHSIX.
2. BukoHaTtu TpeHyBaJibHI FpPaMaTH4YHI BIPABH.
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3.3.2. Ilutanns 1uist caMonepeBipKu

=

What does the Victoria Falls offer?

Who reported the existence of the Falls?

When did David Livingstone reported the existence of the Falls to the outside
world?

What is the Hunters Road?

What does the list of commercial activities include?

What can you say about the Grand Canyon?

What can you say about the John Wesley?

What did John Wesley write about the Grand Canyon?

9. What can you say about the Colorado river?

10.What is Gorge?

11.What is Vishnu schist?

12.How many years ago did Grand Canyon form?

13.What other magnificent wonders of the world do you know?

14. When did the region become more politically stable?

15.Why are new activities emerging and why is the industry becoming more and
more sophisticated?

w N

o NG A

3.4. Mooyas 3M-I14 “Decision-Making on the Solution of Ecological
Problems”, The Conditional sentences (Type 0, I, 11, I11), Subjunctive mood;
nepexkaao mekcmy 3a paxom ma nepexiao CcyCcniibHO-NOAMUYHO20 MEKCMY 3
AH2NIUCHKOT HA YKPAIHCLKY MOBY.

Jlireparypa: [1, c. 80-91, c. 101-115], [2, c. 52-55, c. 59-60], [6, c. 106-138]
3.4.1. [loBuanus
a) Text A. “Decision-Making on the Solution of Ecological Problems”
. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.
. Bunincaru 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX TepeKIIal.

. YCHO mepeK1acT TeKCT 3 aHTIIHACHKOI Ha YKPaiHChKY MOBY.
. [lepekaszatu TeKcCT.

AW N =

b) domarne ynranns. Ilepeknan TeKCTy 3a haxoMm.

. CaMocCTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB)
. Bunncatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH 1X MTEPEKIIal.

. YCHO nepeKIacT TeKCT 3 aHTJIHCHhKOI Ha YKPaiHChKY MOBY.
. [TucemoBe Summary.

DWW N =
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5. Ycae Summary
c) JlomamrHe ynTaHHs (IEPEeKIIaj CyCIUTFHO-TIOTITHYHOTO TEKCTY)

1. CamocTiitHO 00paTh TEKCT 3 aHTIAOMOBHOI razetu (2500 mp.3HaKIB)
2. Bunucatu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X MEpeKIal.

3. YCHO nepeKiacTi TEKCT 3 aHTTMChKOT Ha YKPaiHChKY MOBY.

4, TlucemoBe Summary.

5. Ycue Summary

d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3poOUTH KOHCIIEKT TpaBUJ BXKMBAHHS YMOBHUX PEUYEHB Ta IX CTPYKTYpHU
noOyJIOBU B PEUEHHSX.
2. BukoHaTu TpeHyBaJIbHI FPAMaTH4YHI BIPABH.

e) Grammar:
Subjunctive mood.

1. 3poOUTH KOHCTIEKT MPaBUJI BXKUBAHHS YMOBHHUX PEUEHbB Ta iX CTPYKTypH
noOyJI0OBU B PEUCHHSX.
2. BukoHaTH TpeHyBaJIbHI IPaMaTHYHI BIPABH.

3.4.2. [lutanHs 175 caMONepeBIpKU

=

Is it possible to speak about the target behavior of a system in a certain
environment?

Why must we obtain necessary information?

What do you know about anthropo-ecological system?

What is the difference between the target behavior and adaptation of behavior?
What can we say from the viewpoint of social economic development?

Why must the barriers of natural conditions be learned?

What do you know about the process of cognition of natural and social laws?
What are trajectory variants?

What is one of the serious problems of the decision-making process in the
solution of ecological problems?

10.What have many scientists already agreed?

11.1n what solution does all branches of natural and social sciences intervene?
12.1s this certainly a generally acceptable view?

13.With what does its implementation meet?

14.What is the main problem of the specialized terminology?

15.Why do conflicts occur among specialists?

©Co~NokWN
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16.What is another problem of such inter-disciplinary cooperation?
17.Why is this discussion totally pointless?
18.What have we to realize?

4. IMTAHHA 10 3AXOJA1B IOTOYHOTI'O, HIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuy4Hi 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI po6oTH Moy 3M-I11.
Module control work Ne 1

[2, c. 38 —42], [3, c. 85 —100]
5. Grammar Test (The Infinitive)
Put the right form of the Infinitive:

1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85 — 100]

2. You’ll have to attend preparatory courses to be able (to enter) the university. [2,
c. 38 -42], [3, c. 85— 100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, c. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in their
studies? [2, c. 38 —42], [3, c. 85— 100]

5. They must (to argue) about the right occupation to choose. [2, c. 38 — 42], [3, c.

85— 100]

(To teach) is a responsible task. [2, c. 38 — 42], [3, c. 85— 100]

My sister is glad (to teach) English. [2, c. 38 —42], [3, c. 85 —100]

I’m sorry (not to help) you. [2, c. 38 — 42], [3, c. 85— 100]

It seems (to rain) since the very morning. [2, c. 38 — 42], [3, c. 85 — 100]

0 They are glad (to be taught) by such outstanding teachers. [2, ¢. 38 — 42], [3, c.

85— 100]

11. I’m sure very soon | shall be sorry (not to speak) with you about it. [2, c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 — 42],
[3, c. 85— 100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at her
thesis. [2, c. 38 —42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, c. 38 — 42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 — 42], [3, c. 85— 100]

16.Why didn’t you (to come) yesterday? [2, c. 38 —42], [3, c. 85 — 100]
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17.1 am sorry (to wait for) you for the whole evening. [2, c. 38 — 42], [3, c. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 —42], [3, c. 85 —
100]

19.They are said (to be) rather good. [2, c. 38 — 42], [3, c. 85 — 100]

20. Tomorrow | shall be busy: | expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85— 100]

21.The examination is said (to be) very difficult. [2, c. 38 —42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, c. 38 — 42], [3, c. 85 —
100]

23.I’m so glad (to give) the necessary explanations at the last consultation. [2, c.
38 —42], [3, c. 85 —100]

24.He (to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85— 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42],
[3, c. 85 —100]

27.This man is believed (to achieve) much in the field of science. [2, c. 38 — 42],
[3, c. 85 —100]

28.She is sure (to come). [2, c. 38 — 42], [3, c. 85— 100]

29.He didn’t seem (to hear) the news. [2, c. 38 — 42], [3, c. 85— 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85— 100]

31.She didn’t prove (to be) a well-read person. [2, c. 38 —42], [3, c. 85 — 100]

32.The mother is certain (to return) soon. [2, c. 38 — 42], [3, c. 85 — 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 — 42], [3, c. 85 — 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, c. 85— 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 —42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, ¢c. 38 — 42],
[3, c. 85 —100]

38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85— 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]

40.Mike warned his sister not (to come) back late. [2, c. 38 — 42], [3, c. 85— 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85— 100]

42.Ann didn’t know what (to answer). [2, c. 38 —42], [3, c. 85— 100]

43.George practices (to swim) twice a week. [2, ¢. 38 —42], [3, c. 85— 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85 — 100]

45.1 would like (to visit) Brazil this summer. [2, ¢c. 38 —42], [3, c. 85— 100]

46.Ken failed (to make) new friends at school. [2, ¢. 38 — 42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]
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48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]

49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 — 42], [3,
c. 85 -100]

50.You must (to joke). [2, c. 38 — 42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 — 42], [3, c. 85— 100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 — 42], [3, c. 85 — 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85— 100]

54.He seems (to write) much. [2, c. 38 — 42], [3, c. 85— 100]

55.He is reported (to write) a new novel. [2, c. 38 — 42], [3, c. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 — 42], [3, c. 85 — 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85 —100]

59.1 happened (to ask) her about you when you came in. [2, c. 38 —42], [3, c. 85 —
100]

60.He seems (to ask) wrong people. [2, c. 38 —42], [3, c. 85— 100]

[1, c. 45-46]
1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural and
functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These are
related by the food mainly. The food transfers the matter and energy to the outside
world. The autotrophs are also known as the producers. They make the food by the
process of photosynthesis from the . They not only make their food
but also r the other organisms. They absorb the energy from sun and convert into
the chemical energy. They release oxygen. The organic compounds release energy
during . They are also referred as the transducers as they can
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one form of energy to the other form. The organic compounds which are formed
play an important role in of bodies and help in the release of energy.
They maintain the ratio of gases which help to maintain the balance of :
The heterotrophs are not able to make their own food. It includes the zooplankton,
larvae, bugs, higher animals and vertebrates. They are also as the
consumers. They are of different types. Basically, they are of herbivores and
carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, 1) nature, J) convert.

4.2. I'pamaTryHi 3aBIaHHS 10 MOAYJIBHOI KOHTPOJIBHOI poboTh Moy 3M-T12.

Module control work Ne 2

[2, c. 47 - 50], [3, c. 113 — 123]
1. Grammar Test (The Gerund)

Put the right form of the Gerund:

1. 1 don’t like (to sit) in a room in such weather. [2, c. 47 — 50], [3, ¢. 113 — 123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —
123]

3. You can find the sender’s address at the (begin) of the letter. [2, c. 47 — 50], [3,
c. 113 - 123]

(To walk) is very useful. [2, c. 47 —50], [3, c. 113 — 123]

You may finish this discussion after my (to leave). [2, c. 47 — 50], [3, c. 113 —

123]

6. After (to finish) their homework the children went out to play. [2, c. 47 — 50],

[3,c. 113 - 123]

The telephone is (to ring). [2, c. 47 —50], [3, ¢c. 113 - 123]

8. What do you mean by (to come) to the lesson without reading the story? [2, c.
47 -50], [3, c. 113 - 123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 -123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3, c.
113 -123]

11.There is no hope of our (to get) home before 7 o’clock. [2, ¢c. 47 — 50], [3, c.

113 -123]
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12.He returned home after a year’s absence, it was a happy (to meet). [2, c. 47 —
50], [3, ¢. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 —50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 —50], [3, c. 113 —
123]

15.She was proud (to see) this famous writer. [2, c. 47 —50], [3, c. 113 —123]

16.1°ve no objections (to be asked) about it. [2, c. 47 —50], [3, c. 113 —123]

17.She’s quite sure of (to ask) him about his travel. [2, c. 47 — 50], [3, c. 113 —
123]

18.1 do not like (to attract). [2, c. 47 — 50], [3, ¢. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2, c. 47
—50], [3, c. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, c. 47 —50], [3, ¢. 113 — 123]

21.1t is historically true. | loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t’s no good to (try) to keep him here. [2, ¢c. 47 —50], [3, ¢c. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 —50], [3, ¢. 113 — 123]

25.1 like (to invite) friends to my house. [2, ¢. 47 — 50], [3, ¢. 113 —123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 -
123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, ¢. 113 — 123]

28.(To travel) is a very pleasant thing. [2, c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, c. 47 — 50], [3, c. 113 — 123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47 —
50], [3, ¢. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2, c.
47 -50], [3, c. 113 - 123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 - 123]

33.He felt better for (to write) the letter. [2, c. 47 — 50], [3, ¢. 113 — 123]

34.She enjoyed (to give) parties. [2, c. 47 — 50], [3, c. 113 — 123]

35.1 remember laughing aloud, and the laugh (to carry) by the wind away from me.
[2, c. 47 —50], [3, c. 113 —123]

36.Nobody can go on (to live) without some belief. [2, ¢c. 47 — 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

38.My friend is fond of (to swim). [2, c. 47 —50], [3, ¢. 113 — 123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 — 50], [3, c. 113 — 123]

40.1 like (to make) people happy. [2, c. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, ¢. 47 — 50], [3, ¢. 113 — 123]

42.She denies (to speak) with him. [2, c. 47 —50], [3, c. 113 — 123]
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43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, ¢. 113 — 123]

44 .He turned at (to hear) her footsteps. [2, c. 47 — 50], [3, c. 113 — 123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 —123]

46.Tom went on (to whitewash). [2, c. 47 — 50], [3, c. 113 —123]

47.He did not remember (to see) in that room. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

48.The child deserves (to praise). [2, c. 47 — 50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 —50], [3, ¢. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, c. 47 — 50], [3, ¢. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 — 50], [3, ¢. 113 — 123]

52.1 do not remember (to hear) the legend before. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3, c.
113 -123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 —50], [3, c.
113 - 123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, ¢. 113 - 123]

56.1 am fond of (to be given) presents. [2, c. 47 — 50], [3, c. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 —50], [3, c. 113 — 123]

58.1 am sorry for (to be given) such a small scholarship. [2, c. 47 —50], [3, c. 113 —
123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 — 123]

60.She (to be surprised) at my coming. [2, c. 47 —50], [3, ¢. 113 — 123]

[1, c. 55-56]
1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered evidence
that the burning of fossil fuels is causing temperatures to rise. However, the exact
pace of global warming, as well as the size of mankind’s to the
warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they need
to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of carbon
dioxide would cost between 1% and 2.5% of global GDP, depending on what
kinds of damage you include.

One study from America’s Environmental Protection Agency the
possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
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would come in the form of increased cooling costs for homes and offices (net of
the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic estimates
exclude the “amenity value” — the price people would be willing to pay to avoid
rising for reasons of convenience.

Yet totting up such Is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
policy . many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.3. I'pamaTtuyHi 3aBJaHHS 10 MOIYJIBbHOI KOHTPOJIBHOI podoTn Moayst 3M-I13.

Module control work Ne 3
[2,c.42 -47,¢.61-62],[3,c. 44 —-47,c. 100 — 113]
1. Grammar Test (The Participle, The Indirect speech)

Put the right form of the Participle or put the right form of the verb in the Indirect
Speech:

1. Is this seat (to take)? [2, c. 42 — 47], [3, c. 100 — 113]

2. The man (to stand) at the door helped the old woman to get off the bus. [2,
c. 42 —-47],[3, c. 100 — 113]

3. (To see) that he was late he took a taxi. [2, c. 42 — 47], [3, ¢. 100 — 113]

What is this instrument (to use) for? [2, c. 42 — 47], [3, ¢. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world. [2,
.42 —47],[3, c. 100 — 113]

6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

7. (To receive) a letter, I usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall. [2,
.42 —47],[3, c. 100 —113]

B
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9. While (correct) the students’ test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42— 47], [3, c. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
c. 42 —-47],[3, c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students’ test-papers will be
returned to them today. [2, c. 42 — 47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 — 47], [3, c. 100 —
113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, c¢. 100 — 113]

15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 —47], [3, ¢. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, c. 42 — 47], [3, c. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 — 47],
[3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 — 113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, c. 42 —-47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42— 47], [3,
c. 100 - 113]

23.(To finish) the book, | had a holiday. [2, c. 42 — 47], [3, ¢c. 100 — 113]

24.While (to understand) your problem, | don’t know how I can help. [2, c. 42 -
47], [3, ¢. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin
diseases. [2, c. 42 — 47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 — 47], [3, c. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 -
113]

28.(To open) her eyes, the baby began to cry. [2, ¢c. 42 — 47], [3, ¢. 100 — 113]

29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms. [2,
c. 42 —47],[3, c. 100 — 113]

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 — 55], [3, c. 61 — 62].

32.She often wishes things (to be) different. [2, ¢. 52 — 55], [3, ¢. 61 — 62].
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33.1 wish I (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 — 55], [3, c. 61 — 62].

34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61— 62].

35.The child is crying, | wish I (to know) how to calm her. [2, c. 52 — 55], [3,
c. 61— 62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 - 55], [3, c. 61 — 62].

37.1 wish | (to know) it was your favourite writer. | would have bought the book
for you. [2, c. 52 — 55], [3, c. 61 — 62].

38.1 wish I (to know) French. [2, c. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61 -62].

40.1 wish you (to read) more English books in future. [2, c. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. I wish I (not to eat) all the ice cream. [2, c. 52 — 55], [3, c. 61 — 62].

42.They need a singer for the choir. | wish | (can) sing. [2, ¢. 52 — 55], [3, ¢. 61 —
62].

43.1 wish I (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can’t remember her telephone number. | wish | (can). [2, c. 52 — 55], [3,
c. 61 -62].

45.1 wish 1 (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. I wish | (to have) a better watch. [2, c. 52 — 55], [3,
c.61-62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, c. 52 — 55], [3,
c. 61— 62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, c. 52 — 55], [3,
c. 61— 62].

49.1 wish | (not to spend) all my money last night. [2, c. 52 —55], [3, c. 61 — 62].

50.1 wish | (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 — 55], [3, ¢c. 61 — 62].

52.1 wish I (to know) then what I know now. [2, ¢. 52 —55], [3, c. 61 — 62].

53.1 wish you (to see) this film. I am sure you would like it. [2, c. 52 — 55], [3,
c.61-62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 - 55], [3, c. 61 — 62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, c. 52 —55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, ¢. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61 -62].

58.1 wish I (to be) only joking. [2, c. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].
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60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].
[1, c. 66-67]
1. Fill the gaps:

The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-a
290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
gorges of years old. Agent of this scene, the Colorado River drops
2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.

Numbers, though, tell only of the canyon’s story and merely hint
at the magic of its myriad hues, strata, spires and gorges. The place is more than
the sum of its parts-so much more that neither the eye nor the mind of the beholder
can more than a small part of it at one time. As John Wesley Powell,
whose party in 1869 became the first to traverse the canyon by river, wrote, “You
cannot see the Grand Canyon in one view, as if it were a changeless
from which a curtain might be lifted.”

At the canyon’s bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on the
earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it
formed, vast rifting and faulting laid it down the tilted, sediments of the
Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone, and
shale bespeak the advance and retreat of seas, the building up and
wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,
G) ancient, H) exposing, I) northern, J) part.
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4.4. I'pamaTryH1 3aBJIaHHS 10 MOJYJIbHOI KOHTPOJIbHOI poboTu Mo tyst 3M-T14.

Module control work Ne 4
[2, c. 51 - 55, ¢. 59 —60], [3, c. 56 — 65]
1. Grammar Test (The Conditional Sentences, The Subjunctive Mood)

Put the right form of the verb in Conditional Sentences or put the right form of the
verb in the Subjunctive mood:

1. If I (to be free) tomorrow, I shall join you with pleasure. [2, ¢. 59 — 60], [3, ¢.58
—60]

2. If your brother (to be) here now, he will be surprised at your dress and | am sure
he would not approve of it. [2, c. 59 — 60], [3, ¢.58 —60]

3. If we (to be) not writing this exercise now | should give you my pen. [2, c. 59 —
60], [3, c.58 —60]

4. If it (to be raining) now, the children would not be running about in the garden.
[2, c. 59 —60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, ¢. 59 — 60], [3,

.58 —60]

| would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

If you | had met her 1 (to tell) her about it. [2, ¢. 59 — 60], [3, ¢.58 —60]

8. If I leave town I never (to tell) my people where I am going. [2, ¢. 59 — 60], [3,
.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2, c. 59 —
60], [3, c.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the text
easily. [2, ¢. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination early
in the morning. [2, c. 59 — 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, c. 59 — 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 - 60], [3, ¢.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon precipitation
for their store water. [2, ¢. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3, ¢.58 —
60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c¢. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, c. 59 — 60], [3,
.58 —60]
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18.My brother would not have missed so many lessons if he (not to hurt) his leg.
[2, c. 59 —60], [3, ¢.58 —60]

19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 — 60],
[3, c.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2, c. 59
—60], [3, .58 —60]

21.1f you get a “five”, your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left. [2,
c. 59 - 60], [3, ¢.58 —60]

23.1f these shoes were not too big for me, I (to buy) them. [2, c. 59 — 60], [3, ¢.58 —
60]

24.1f you (to ring) me up, | shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3, ¢.58 —
60]

26.1f he did not read so much, he (not to know) English literature so well. [2, c. 59
—60], [3, ¢.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2, c. 59 —
60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, c. 59 — 60],
[3, c.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2, c. 59
—60], [3, ¢.58 —60]

30.My father would have more free time if he (not to read) so many newspapers.
[2, c. 59 —60], [3, ¢.58 —60]

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 —55], [3, c. 61 — 62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish I (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 —55], [3, ¢. 61 — 62].

34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61 -62].

35.The child is crying, I wish | (to know) how to calm her. [2, ¢c. 52 — 55], [3,
c. 61 -62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 -55], [3, c. 61 - 62].

37.1 wish I (to know) it was your favourite writer. 1 would have bought the book
for you. [2, c. 52 — 55], [3, ¢. 61 — 62].

38.1 wish I (to know) French. [2, c. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61 —62].

40.1 wish you (to read) more English books in future. [2, ¢c. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. I wish | (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, ¢. 61 — 62].
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42.They need a singer for the choir. | wish I (can) sing. [2, ¢. 52 — 55], [3, ¢. 61 —
62].

43. 1 wish | (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can’t remember her telephone number. | wish | (can). [2, c. 52 — 55], [3,
c. 61 -62].

45.1 wish | (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61 —62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, c. 52 — 55], [3,
c. 61 —62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, c. 52 — 55], [3,
c. 61 —62].

49.1 wish | (not to spend) all my money last night. [2, c. 52 — 55], [3, c. 61 — 62].

50.1 wish | (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 — 55], [3, ¢. 61 — 62].

52.1 wish I (to know) then what | know now. [2, c. 52 — 55], [3, c. 61 — 62].

53.1 wish you (to see) this film. | am sure you would like it. [2, c. 52 — 55], [3,
c. 61 -62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 —55], [3, c. 61 — 62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, ¢. 52 — 55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, c. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61 —62].

58.1 wish | (to be) only joking. [2, c. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].

[1, c. 81]
1. Fill the gaps:

Here we come to the important task for in social practice and, at the
same time, to the methodological problems arising in the preparation of such an
inter-disciplinary document. It is not only matter of a ‘different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a
analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?
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Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as the

‘nation-wide’ interest. Another problem of such an interdisciplinary IS
the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,

specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analysts reproach these
‘encyclopedists’ for ‘knowing nothing about everything, while the synthetists
laugh at the narrow specialists for ‘knowing everything about nothing. The

goes as far as the issue of ‘science a non-science, where only exact
experimental work as scientific, while its processing as a basis for
decision-making is considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, I) cooperation, J) remote.

4.5. 3aBaaHHs 10 icnuTy.
1 3aBganHA

Grammar Test

Insert the proper form of the verb:
. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]
. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]
. This house seems (to rebuild) already. [2, c. 38-42], [3, c. 85-100]
. I don’t (to understand) this text. [2, c. 38-42], [3, c. 85-100]
. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-100]
. He seems (to know) wrong 35ddress. [2, c. 38-42], [3, c. 85-100]
. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]
. 'You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]
10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
11. Where is the girl (to read) the book? [2, ¢.42-47], [ 3, c. 100-113]
12. There (to be) little time left, we took a taxi. [2, ¢.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn’t get into the house. [2, c.42-47], [ 3, c. 100-
113]
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14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, c. 100-113]

15. (To think) that he was busy, | decided to call on him later. [2, c.42-47], [ 3, c.
100-113]

16. (To graduate) from the university, | decided to return to my home city. [2, c.42-
471, [ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, c.42-47], [
3, ¢.100-113]

18. (To run) across the field, | fell and hurt my ankle. [2, ¢.42-47], [ 3, c. 100-113]
19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c¢. 100-113]

21. He has no right to come bothering you and your father without (to invite). [2,
c.42-47], [ 3, c. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50], [3,
c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, c. 59-60], [3, c. 55-60]
32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If | (to know) you are coming I won’t leave the house. [2, ¢. 59-60], [3, c. 55-
60]

34.If | (to have) a big house, | (to invite) friends. [2, c. 59-60], [3, c. 55-60]
35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. I (to find) those types of papers if | had a little bit more time. [2, c. 59-60],
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[3, . 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in here.
[2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he ( to run) into the van. [2, c. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn’t teased him. [2, c. 59-60], [3, c. 55-60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, c. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, . 47-55]

44. This book (to look for) everywhere. [2, ¢.32-33], [3, c. 47-55]

45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]

46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, c. 47-55]

48. They often (to laugh) at. [2, ¢.32-33], [3, c. 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-55]

2 3aBIaHHA

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three
political functions: information, discussion and representation. It is supposed to
give the voter reliable and complete information on which to base his judgement, it
should let him know the arguments for and against any policy, and it should reflect
and give voice to the desires of the people as a whole. Naturally, there is no
censorship in Great Britain, but in 1953 the Press Council was set up. It is not an
official body but it is composed of people nominated by journalists, and it receives
complaints against particular newspapers. It may make reports which criticize
papers, but its reports have no direct effect

The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense

of circulating throughout the British Isles. All the national newspapers have their
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central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.

3 3aBHaHHA
I11. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as

follows.

“The Times” (1785) is called the paper of the Establishment. Politically it is
independent, but is generally inclined to be sympathetic to the Conservative party.
It’s not a governmental organ, though very often its leading articles may be written
after private consultation with people in the government. It has a reputation for
extreme caution, though it has always been a symbol of solidity in Britain. Its
reporting is noted for reliability and completeness and especially in foreign affairs.
Its reputation for reflecting or even anticipating government policy gives it an

almost official tone.

“The Guardian” (until 1959 — “Manchester Guardian) has become a truly
national paper rather than one specially connected with Manchester. In quality,
style and reporting it is nearly equal with “The Times”. In politics it is described as
“radical”. It was favourable to the Liberal party and tends to be rather closer in
sympathy to the Labour party than to the Conservatives. It has made great progress
during the past years, particularly among intelligent people who find “The Times”

too uncritical of the Establishment.

“The Daily Telegraph” (1855) is the quality paper with the largest
circulation (1.2 million compared with “The Times’s” 442 thousand and “The
Guardian’s” 500 thousand). In theory it iS independent, but in practice it is an
orthodox Conservative paper and as such caters for the educated and semi-

educated business and professional classes. Being well produced and edited it is
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full of various information and belongs to the same class of journalism as “The

Times” and “The Guardian”.

I\V. Write about “My scientific interests” (15 sentences)
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